https://lwww.leads4pass.com/1z0-520.html

L eads 4 PGSS 2024 Latest leads4pass 120-520 PDF and VCE dumps Download

170-52009%As

Oracle E-Business Suite R12.1 Purchasing Essentials

Pass Oracle 1Z0-520 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/1z0-520.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-520 VCE Dumps | 1Z0-520 Practice Test | 120-520 Exam Questions 1/3


https://www.leads4pass.com/1z0-520.html
https://www.leads4pass.com/1z0-520.html
https://www.leads4pass.com/1z0-520.html

https://lwww.leads4pass.com/1z0-520.html
2024 Latest leads4pass 120-520 PDF and VCE dumps Download

QUESTION 1

An approved supplier list (ASL) is being defined in a multiorganization environment. Which two statements are valid?
(Choose two.)

A. Setting up a Global ASL is mandatory.
B. If a supplier item has a local ASL setup, you cannot set it up on a Global ASL.
C. The supplier for an item-supplier association must be global, while the supplier site can be local.

D. Company X has set up Planning and would source planned orders. The approval status of the supplier can be set to
New or Approved.

Correct Answer: CD

QUESTION 2

Your company often orders Items that are sourced from multiple suppliers. At any given time, the supplier varies
depending on the supplier\\'s current production capability and price offering. The price varies throughout the year. For a
particular item, there is no single supplier that receives the majority of the orders. What is the best way to set up this
item?

A. Create blanket purchase agreements, a sourcing rule identifying all the possible suppliers, and approved supplier list
entries.

B. Create contract purchase agreements, a sourcing rule identifying all the possible suppliers, and approved supplier list
entries.

C. Do not create blanket or contract purchase agreements or sourcing rules. Manually AutoCreate requisitions onto
standard purchase orders.

D. Create a blanket purchase agreement for only one supplier, a sourcing rule for just that supplier, and an approved
supplier list entry for that supplier.

E. Create a contract purchase agreement for only one supplier, a sourcing rule for just that supplier, and an approved
supplier list entry for that supplier.

Correct Answer: C

QUESTION 3

ACME is implementing Inventory in a Process Manufacturing environment. The default profile for the Min-Max Planning
Report is deployed. What will be the result?

A. Requisitions will be preapproved.
B. Users must approve requisitions for items that have a limited shelf life.

C. Users must approve requisitions for items with a Material Safety Data Sheet (MSDS).
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D. Users must approve requisitions that are inside the items Past Due Supply time fence.
E. Users must approve requisitions when the quantity exceeds the item\\'s Economic Order Quantity (EOQ).

Correct Answer: A

QUESTION 4

The PO Create Documents Workflow creates . (Choose three.)
A. releases from blanket purchase agreements

B. standard purchase orders from bid quotations

C. standard purchase orders from catalog quotations

D. standard purchase orders from standard quotations

E. standard purchase orders from planned purchase agreements

F. standard purchase orders from contract purchase agreements

Correct Answer:. ACF

QUESTION 5

The client requires that cycle counts are enterd by the warehouse staff. However, only the warehouse manager can
schedule counts, generate count requests, and approve the counts that are out of tolerance.

What should you consider when setting up the cycle counting process? (Choose three.)
A. the frequency of the recounts required

B. the number of automatic recounts required

C. the tolerance level for automatic adjustment

D. Modify the workday calendar used by the warehouse.

E. the responsibility that has access to the Approve Counts function

F. the number of serial and/or lot controlled items included in the count

Correct Answer: BCE
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